Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).

- Looking at them as little as possible, answer the questions.

The answers of Week 2’s questions should be handed to me in the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 4 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.





WEEK 2
1. What are the main goals of CBs of advanced countries? 

2. Why is demand for goods and services the source of people’s income?
3. Why does the doubling of prices leave AGGREGATE real income unchanged?

4. “An increase in the general level of prices can erode the purchasing of some income classes but only if at the same time it increases the purchasing power of other classes by the same extent.” Why? Bear in mind the answer you’ve given to the previous question.

5. In which case will inflation leave the purchasing power of all income classes unchanged? Explain.

6. Can inflation be associated with an increase of the purchasing power of the working class? Explain.

7. a) “The value of accumulated savings and debts remains fixed in nominal terms from one year to the next.” This is not strictly correct. Why?
b) In which case will inflation cause a transfer of wealth from savers to debtors? Explain using a numerical example.

8. “If an increase in inflation leads to an increase in nominal interest rates by the same extent, that increase in inflation does not cause a transfer of wealth in real terms from savers do debtors.”  

 Do you agree? Explain.

9. “If an increase in inflation leads to an increase in nominal interest rates by the same extent, that increase in inflation does not harm savers.”  If we take taxes into account, is this true? Explain.

10. a) Why don’t long-term nominal interest rates adjust to inflation?

b) If inflation rises, what is likely to happen to nominal interest rates on SDs and Tbills? Explain.

c)Why don’t such short-term nominal interest rates necessarily adjust to inflation?
…

11. Why does high inflation create uncertainty to private business investment?

12. Compare two scenarios with the following figures during a period of 15 years i) Zero annual inflation and an annual nominal interest rate of 3%; ii) 15% annual inflation and an annual nominal interest rate of 6%.

In which scenario, do businesses have more incentive to:

a) Borrow money to undertake productive investment projects? Explain.

b) Apply profits in productive investment projects rather than apply profits in time deposits or bonds?
13. What may be one of the explanations for the low level of investment observed in 2009-15 across Europe and the US?

14. a) Why may a relatively high inflation rate stimulate private business investment?

b) In that case, what’s the effect on people with accumulated savings? Explain.

15. Summarize the two opposing arguments about the effect of double-digit inflation on the long-term rate of economic growth.

16. What does the empirical evidence suggest about the relation between inflation and long-term economic growth?
Do not answer to Q17

17. How many years does it take for a variable that grows at 7% a year to quadruple? Use the 70-rule.

18. a) What is aggregate demand?

b) What is the full-employment level of output?

19. Suppose the CB and the savings deposits interest rates are both equal to 0%, while the interest rate on credit is 1%.

a) Will there be a lower incentive to save if inflation is 1% or if it is 10%? Explain.

b) Will there be a bigger incentive to get credit to buy durable consumption goods if inflation is 9% or if it is 2%? Explain.

c) Will there be a bigger incentive to get credit to fund investment projects if inflation is 12% or if it is 4%? Explain.

d) Will firms have a greater incentive to use their profits to fund productive investment (rather than apply them in savings deposits) if inflation is 2% or if it is 17%? Explain.

20. a) Under which circumstances the ability of the CB to promote full-employment may be greater if inflation is 5% rather than 0%? Explain.

b) Under which circumstances the ability of the CB to promote full-employment may be the same if inflation is 5% rather than 0%? Explain.

Clue: think about possible positions of the AD curve.

